IFB 14-025/KJS Taxiway D Reconstruction Jack Brooks Regional Airport Bid Opening: July 22, 2014 Preliminary Tabulation

				APAC-Texas, Inc.		Lange Brothers Construction		BDS Constructors
				12907 US Hwy		6301 Diamond		2485 North Street
				Beaumont, TX	Scott Blanchard	Port Arthur, Tex		Vidor, Texas 77662 Attention: Kenneth \$
				409-866-1444		Attention: Ronn 409- phone	ne Lange	409- phone
				409-866-1032	•	409- priorie 409- fax		409- phone 409- fax
Base Bid				snblanchard@		409- lax		409- lax
Dase Diu		1	Estimated	Unit	арас.соп	Unit		Unit
Bid Item	Description	Unit		Price	Bid Amount	Price	Bid Amount	Price
SS-120-1	Site Preparation	LS	100%	\$50.000.00	\$50.000.00	\$2,550.00	\$2,550.00	\$151,000.00
SS-130-1	Trench and excavation safety systems	LS	100%	\$750.00	\$750.00	\$2,840.00	\$2,840.00	\$2,500.00
SS-281-1	Steel Safety Bollards	EA	12	\$658.43	\$7,901.16	\$370.00	\$4,440.00	\$450.00
F-162-1	Removal and Disposal of Existing Fence	LF	133	\$12.00	\$1,596.00	\$15.34	\$2,040.22	\$10.00
F-162-2	7" Chain-link fence with 3-strand barbed wire	LF	9300%	\$29.60	\$2,752.80	\$37.70	\$3,506.10	\$45.00
P-101-5.1a	Concete Pavement Removal	SY	420	\$50.00	\$21,000.00	\$52.94	\$22,234.80	\$38.00
P-501-8.1a	Portland cement concrete pavement (less than or equal 10" Thickness)	SY	410	\$97.00	\$39,770.00	\$87.08	\$35,702.80	\$157.00
SS-300-1	Lockout/Tagout and constant current regulator calibration procedures	LS	100%	\$1,500.00	\$1,500.00	\$6,885.00	\$6,885.00	\$2,000.00
L-108-1	No. 8 AWG 5KV, L-824C Cable, installed in trench, duct bank or conduit	LF	2130	\$2.00	\$4,260.00	\$13.48	\$28,712.40	\$1.80
L-108-2	No. 6. AWG Solid, bare counterpoise wire, installed in trench, above the duct bank or conduit, including ground rods and ground connectors	LF	1,130	\$2.50	\$2,825.00	\$3.46	\$3,909.80	\$2.00
L-108-3	No. 6 AWG stranded, 600V Rated, Type XHHW, Green Insluated equipment ground, installed in duct bank or conduit, including ground connectors	LF	175	\$2.00	\$350.00	\$1.99	\$348.25	\$3.00
L-108-4	12-Strand ALCMS Fiber Optic	LF	175	\$26.00	\$4.550.00	\$49.81	\$8.716.75	\$24.00
L-108-5	6-Pair, PE-89 Telephone Cable, Installed	I F	350	\$8.50	\$2,975.00	\$13.58	\$4,753.00	\$8.00
L-108-6	Generator Remote Annunciator Cable, Installed	I F	350	\$8.50	\$2,975.00	\$37.59	\$13,156.50	\$8.00
L-100-0	Generator Remote Annunciator Cable, Installed	L	330	φο.50	φ2,973.00	φ37.39	\$13,130.30	φο.υυ
L-109-1	Construction of Airport Vault Building and Foundation in Place	LS	100%	\$284,524.84	\$284,524.84	\$131,644.00	\$131,644.00	\$170,950.00
L-109-2	Installation of Airport Transformer Vault Equipment in Place	LS	100%	\$323,935.00	\$323,935.00	\$312,332.00	\$312,332.00	\$325,000.00
L-109-3	Existing Airfield Lighting Power Distribution Equipment, Removed	LS	100%	\$8,000.00	\$8,000.00	\$12,750.00	\$12,750.00	\$6,500.00
L-109-4	Generator and Transfer Switch System, Installed	LS	100%	\$243,621.20	\$243,621.20	\$233,192.00	\$233,192.00	\$220,000.00
L-110-1	Concrete encased electrical duct bank, 2 way-1"C	LF	25	\$50.00	\$1,250.00	\$144.69	\$3,617.25	\$107.00
L-110-2	Concrete encased electrical duct bank, 4 way-1"C	LF	50	\$40.00	\$2,000.00	\$79.43	\$3,971.50	\$115.00

L-110-3	Concrete encased electrical duct bank, 2 way-4"C	LF	40	\$85.00	\$3,400.00	\$363.38	\$14,535.20	\$160.00
L-110-4	Concrete encased electrical duct bank, 6 way-4"C	LF	80	\$125.00	\$10,000.00	\$382.50	\$30,600.00	\$180.00
L-110-5	Concrete encased electrical duct bank, 8 way-4"C	LF	10000%	\$150.00	\$15,000.00	\$719.10	\$71,910.00	\$205.00
L-115-1	Precast concrete electrical handhole, interior dimensions 2'Lx3'Wx3"D, installed	EA	7	\$6,000.00	\$42,000.00	\$5,642.00	\$39,494.00	\$3,210.00
_				Tota	al \$1,076,936.00	Tota	\$993,841.57	Total

Bidders Total with Mathmatecal errors \$993,843.00

ALTERNATE 1			APAC-Texas, I	Inc. Lange Brothers			BDS Constructors	
			Estimated	Unit		Unit		Unit
Item No.	Description	Unit	Quantities	Price	Bid Amount	Price	Bid Amount	Price
L-101-1	L-802A, Airport Rotating Beacon, in place	LS	100%	\$11,000.00	\$11,000.00	\$32,646.00	\$32,646.00	\$6,000.00
L-101-2	Existing Airport Rotating Beacon Removed	LS	100%	\$1,000.00	\$1,000.00	\$5,355.00	\$5,355.00	\$1,500.00
•				Total	\$12,000.00	Total	\$38,001.00	Tota

Jefferson County makes no claim that this bid tabulation represents anything other than the information read aloud at the public opening. The County has not checked the bids for errors, or made any determinations that the so requirements. In the case of a discrepancy between information on this tabulation and the original hard-copy document, the original hard copy shall prevail.

DBA MK Constructors

Stewart

Bid Amount	
\$151,000.00	
\$2,500.00	
\$5,400.00	
\$1,330.00	
\$4,185.00 \$15,960.00	
\$15,960.00	
\$64,370.00	
\$2,000.00	
\$3,834.00	
\$2,260.00	
\$525.00	
\$4,200.00	
\$2,800.00	
\$2,800.00	
\$170,950.00	
\$325,000.00	
\$6,500.00	
\$220,000.00	
\$2,675.00	

\$1,057,809.00	
\$22,470.00	
\$20,500.00	
\$14,400.00	
\$6,400.00	

DBA MK Constructors

Bid Amount	
	\$6,000.00
•	\$1,500.00
•	\$7,500.00

olicitations meet all